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General Instructions :

(i)  This question paper contains three parts A, B and C.

(ii) Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts B and C.

(iv) All parts of the questions should be attempted at one place.
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T -F
PART -A

(WTSETA WHt o Fwfat & g sraie)
(Accounting for Partnership Firms and Companies)

ST WHERI I GSi ¥ & A U WISER ZR {6 7T Smeon %1 wia e i s 2

When the partner capitals are fixed, where the drawings made by a partner will be
recorded ?

v foemm WERRl F ovElE o ¥ Radw wer & ot & weiaat ik ema &
TR W AT 39aT w1 B e s F e s £ 0

State the ratio in which the partners share profits or losses on revaluation of assets and
liabilities, when there is a change in profit sharing ratio amongst existing partners ?

I @ H AN TAE N OF WHER H g W IGH §og & A 0% % 9 F 49 B 39
ol @ § 59w F o wien ey

Name the account which is opened to credit the share of profit of the deceased partner,
till the time of his death to his Capital account.

oo F TR TEOT FA F W FHAR S T F T 60,000 F o &g e
wiafte Fifse, aft sue forw #1¢ zrar =2 & | w5 & o, oo o e 99 e ¥ |

Give the journal entry to distribute “Workman Compensation Reserve’ of T 60,000 at
the time of retirement of Sajjan, when there is no claim against it. The firm has three
partners Rajat, Sajjan and Kavita.

“wfervgfer siferae =1 a1 anead & 2

What is meant by ‘Securities Premium’ ?

AT FEA A A FE G T AR A € A e e 5 W R W e
A FAE 2

What rate of interest the company pays on calls - in advance if, it has not prepared its
own Articles of Association ?

TETEa Wi % ®9 § HOET & HIEA T ared g § 2

What is meant by issue of debentures as a collateral security ?
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@) E e F T S i e 3w fae & T T A o 2+1=3

Mona, Nisha and Priyanka are partners in a firm. They contributed ¥ 50,000 each as
capital three years ago. At that time Priyanka agreed to look after the business as
Mona and Nisha were busy. The profits for the past three years were I 15,000,
% 25,000 and ¥ 50,000 respectively. While going through the books of accounts Mona
noticed that the profit had been distributed in the ratio of 1 : 1 : 2. When she enquired
from Priyanka about this, Priyanka answered that since she looked after the business
she should get more profit. Mona disagreed and it was decided to distribute profit
equally retrospectively for the last three years.

(a) You are required to make necessary corrections in the books of accounts of

Mona, Nisha and Priyanka by passing an adjustment entry.

(b) Identify the value which was not practiced by Priyanka while distributing profits.

9. 2100 7% ¥ 1,000, 7% T Frte ¥ e Aot uferfodl § sEvas JomEE
wfaftedt Hifag :
(3n) T 5% vitHaw v, v 10% S )
@ i 5% 9 W, v FHEE W : 3
Pass the necessary journal entries for issue of 1,000, 7% Debentures of ¥ 100 each in
the following cases :
(a) Issued at 5% premium redeemable at a premium of 10%.
(b) Issued at a discount of 5% redeemable at par.

10, e HezaA fefaee % T 100 Y&E & € 5,00,000, 7% FTE e v 10% s
R BT o1, 3 WY 9 | VIS v % SRR, ST ¥ IWE § 9 30% RO ® ¥ 50
e ¥ 3 W 20% Wimn T et aE oiedw gw aive | e SRR
frfs % g § RO % YT F wfered S | 3

Taneja Constructions Ltd. has an outstanding balance of ¥ 5,00,000, 7% debentures of
Z 100 each redeemable at a premium of 10%. According to the terms of redemption,
the company redeemed 30% of the above debentures by converting them into shares of
% 50 each at a premium of 20%. Record the entries for redemption of debentures in the
books of Taneja Constructions Ltd.

67/1/1 3 [P.T.O.



11.

12.

13.

I T I UH FH T WEER € | IR 99T B S F A 1/4 9 % o aEeR a= e o
A R & O % ¥ F 969 T 2,00,000 #0139 5 wd # ot gt w5 g
% 5,40,000 T =T IFrE = T 1,00,000 FET T | ¥ ¥ WAV & 9HG @G B A@wT
1 nfafte ST | 1o FEwRT ool 5 o saE |

Abhay and Beena are partners in a firm. They admit Chetan as a partner with 1/4®
share in the profits of the firm. Chetan brings T 2,00,000 as his share of capital. The
value of the total assets of the firm is ¥ 5,40,000 and outside liabilities are valued at
T 1,00,000 on that date. Give the necessary entry to record goodwill at the time of
Chetan’s admission. Also show your working notes.

w1, 2fae R e EER & S A # 5 : 327 % IuE o favifo e € 11 e,
2012 i T 7 FH | FTH WU HH & [0 Aew o | s a=n srwem 1 o w wfas
T2 : 3% U ¥ foifea F 1 Foig forn | S o srwem % a9 @t & o
%A T 33,000 797 % 70,500 & | T F FA T 90,500 F I foHar ST o4 | 59 W @
g AT T HEem F 3 FER w0 91 {6 S O @m % 99 3 o fee & 1R
e A | e G ¥ SR SR % g e o s SR |
gt F feaett W gwEd |

Naresh, David and Aslam are partners sharing profits in the ratio of 5 : 3 : 7. On April
1%, 2012, Naresh gave a notice to retire from the firm. David and Aslam decided to
share future profits in the ratio of 2 : 3. The adjusted capital accounts of David and
Aslam show a balance of ¥ 33,000 and ¥ 70,500 respectively. The total amount to be
paid to Naresh is ¥ 90,500. This amount is to be paid by David and Aslam in such a
way that their capitals become proportionate to their new profit sharing ratio. Pass
necessary journal entries for the above transactions in the books of the firm. Show
your working clearly.

e fofes 3 T 3 F 9] e % %9 T4 % Y ¥ 0 € 80 Yw F |l 9
% 5 vfa oiw =g W Foifa 63 | 59 973 ¥15,00,000 o1 | Feafet v wiige Femem &
@re 2 5,00,000; 2% T 7,00,000; @ T 3,00,000; FRT T 6,00,000 war fafay wRR
¥5,00,000 % |

e ffiT 9 s § SWE oAl ¥ T sy e sfafest Fit |

Madhayv Ltd. issued fully paid equity shares of ¥ 80 each at a discount of ¥ 5 per share
for the purchase of a running business from Gupta Bros. for a sum of ¥ 15,00,000.

The assets and liabilities consisted of the following :

Plant ¥ 5,00,000; Trucks ¥ 7,00,000; Stock ¥ 3,00,000; Machinery ¥ 6,00,000 and

- Sundry Creditors ¥ 5,00,000.

67/1/1

You are required to pass necessary journal entries for the above transactions in the
books of Madhav Ltd.



14, ger fefres = afaga ot € 45,00,000 4 5 2 150 W= & 30,000 3w o oy ot |
o @ FEE ¥ T 150 W % 15,000 3wt w1 2 10 v v s @ Fie T o
ﬁﬂﬁ'ﬂ'l?i’ﬂﬂ"f:
AR W 50 Wi 3, e W T 40 s i sfem T 30 i S g A ) A
99 T A | | AT 3 14,000 39 ¥ fow e | Tl SR T 8
S GEAS B T g GO foAes W HEAl S 1956 =1 wiwifea wiRen VI
m-[%mﬁaﬁ{-ﬁammmﬁﬂﬁaﬁﬁﬁmaﬁr%mmﬁ%%@’ﬁml 4

The authorized capital of Suhani Ltd. is Z 45,00,000 divided into 30,000 shares of
% 150 each. Out of these company issued 15,000 shares of ¥ 150 each at a premium of
Z 10 per share. The amount was payable as follows :

Z 50 per share on application, ¥ 40 per share on allotment (including premium), ¥ 30
per share on first call and balance on final call. Public applied for 14,000 shares. All
the money was duly received. '

Prepare an extract of Balance Sheet of Suhani Ltd. as per Revised Schedule VI Part -1
of the Companies Act 1956 disclosing the above information. Also prepare ‘notes to
accounts’ for the same.

15. 7o, famer aon due wH wH § SERR E | 1 37, 2011 F IF o @ F 9 HAE
2 4,00,000, T 3,00,000 T T 2,00,000 & \& 53 2% A § Am-E fata w5
& mrskrﬁ#ﬁﬁ&miﬂwﬂw,ﬁmo%mﬁaﬁﬂﬁmmﬁmnmwﬁ
TR & A9 T 3,000 U e 3 T F et € |

ﬁw%%@ﬂm(ﬁmmﬁsﬁmﬁmﬁﬁfaﬁmmﬁm?mm
i o areattad € | HiE | F S Sreafan T & 2Rl S g dTe g @ S |
31 T, 2012 F TS 8 a1 a1 e T 2,00,000 o | 31 A, 2012 I TS gC a¥
¥ forw w1 - fafEeT @ ER S | 6
Ali, Bimal and Deepak are partners in a firm. On 1% April, 2011 their capital accounts
stood at Z 4.00,000, T 3,00,000 and T 2,00,000 respectively. They shared profits and
losses in the proportion of 5 : 3 : 2. Partners are entitled to interest on capital @ 10%
per annum and salary to Bimal and Deepak @ ¥ 2,000 per month and ¥ 3,000 per
quarter respectively as per the provisions of the partnership deed.

Bimal's share of profit (excluding interest on capital but including salary) is
guaranteed at a minimum of ¥ 50,000 p.a. Any deficiency arising on that account shall
be met by Deepak. The profits of the firm for the year ended 31% March, 2012
amounted to T 2,00,000. Prepare Profit & Loss Appropriation Account for the year
ended on 31* March, 2012.
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16. U, W 74 Ffcw S T B 3 : 3 : 4 F S | e w9, F 31 A5, 2012 H
ety Teramor feram o

wfr o

Yt ®) A )
T 9 10,000 | T3 16,000
37 fam 5,000 | Tefemr 44,000
£l 12,000 | faf=rr 47,000
gft: W ;60,000 ofs 3 v 60,000
wWE ;50,000 T T R0 10,000

% : _ 40,000 | 1,50,000

1,77,000 1,77,000

30 37, 2012 1 g1 1 7Y 7 7 | R WEER 9 99 % 999 aner goE § Pretad
H’ﬁ'ﬂﬁfﬂ!}@.’%
(30 i T i e i a6 ¥ S o ¥ S T & SR e SR

@) O H GG F A TF F AW A @ F 39 B e S F w9 s s
31 9, 2012 F F9E §C ad # famwt F A T 4,00,000 & 7 1 e | 30 51
2012 7% % 1,50,000 9t 1 31 B4, 2012 Ft THIE 5T T FT & T 1,00,000 4T |

@) TR 6% o= Ft 57 | =307 e s |
®) o 9 ot 1 e e 242,000 91 |

(@) O H AHE F AR, I R B AR 39 e g A o - wehedt w
HATIETE” HTH BT |

U1 % e =t S 3 T Swen ot @ daw St o 59 5o 9 gewe o St
T d SR g 6

The Balance Sheet of Sudha, Rahim and Kartik who were sharing profit in the ratio of
3:3:4 as on 31" March, 2012 was as follows :

Liabilities A"‘(;’)“"‘ Assets g
General Reserve 10,000 | Cash 16,000
Bills Payable - 5,000 | Stock 44,000
Loan 12,000 | Investments 47,000
Capitals :Sudha: 60,000 Land & Building 60,000
Rahim: 50,000 Sudha’s loan 10,000

Kartik : _40,000 | 1,50,000
1,77,000 1,77,000

67/1/1 6



Sudha died on June 30™ 2012. The partnership deed provided for the following on the
death of a partner :

(@) Goodwill of the firm be valued at two years purchase of average profits for the
last three years.

(b) Sudha’s share of profit or loss till the date of her death was to be calculated on
the basis of sales. Sales for the year ended 31" March, 2012 amounted to
% 4,00,000 and that from 1% April to 30" June 2012 to ¥ 1,50,000. The profit for
the year ended 31" March, 2012 was ¥ 1,00,000.

(c) Interest on capital was to be provided @ 6% p.a.

(d) The average profits of the last three years were T 42,000.

(e) According to Sudha’s will, the executors should donate her share to “Matri
Chhaya — an orphanage for girls”.

Prepare Sudha’s Capital Account to be rendered to her executor. Also identify the

value being highlighted in the question.

17, e SR T 10 W % 75,000 9 & 10% 9% W e ¥ fog s s )

Tﬁﬂ%ﬁﬂlﬁ'ﬂl’(%ﬁﬁ:

T U7 2 2 W 3, S W T 3 wie 39 o g W 4 wi S

FEE B 1,50,000 309 % T A6 W §U | S AR R

(3 15,000 39 ¥ ETH B 5,000 37w swAfen fHd @

@ 70,000 3 & FEH N 40,000 T e BFE T |

@ W e 930,000 v AR PR T 1

e R s i ol 4 | g v 3500 siei 3 ferg s o & e st g A A

Sfnfr o, e T AT A T e 5 e T | e B 3,000 s e

fopt T 91, 3 T T T A S e A e | e A ge A § weEe e |

Mﬁmﬂmm%mmuﬁMﬁanmwﬁ

W €9 7 Ky | 8

Frar

frfefiaa e 6 379 % e H AU G B AT A :

(3N e Tl A T 10 W & 20 39 i ST % foran o W sfenefedt & X 7 Wi TG
& o € 5 TR 3T AR AU AEET O T A T en | T ¥ 15 3w R
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@ = fafaee 3 T 10 7% % 90 i # fa W T 8 |Rt T & qer Fe ftes 2 2 wf
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Moneyplus Company issued for public subscription 75,000 shares of the value of ¥ 10

each at a discount of 10% payable as follows :

T 2 per share on application, ¥ 3 per share on allotment and ¥ 4 per share on call.

The company received applications for 1,50,000 shares. The allotment was done as

under :

(a) Applicants of 15,000 shares were allotted 5,000 shares.

(b) Applicants of 70,000 shares were allotted 40,000 shares.

(c) Remaining applicants were allotted 30,000 shares.

Money in excess to allotment was returned. Hari, a shareholder who had applied for

3,500 shares out of group B failed to pay allotment and call money. Rohan, a

shareholder who was allotted 3,000 shares paid the call money along with the
allotment. Rohan also belonged to group B.

Pass necessary journal entries to record the above transactions in the books of the
company. Show your working notes clearly.
OR

Record the journal entries for forfeiture and reissue of shares in the following cases :

(@) X Lid. forfeited 20 shares of T 10 each, ¥ 7 called up on which the shareholder
had paid application and allotment money of ¥ 5 per share. Out of these, 15
shares were re-issued to Naresh as ¥ 7 per share paid up for ¥ 8 per share.

(b) Y Ltd. forfeited 90 shares of ¥ 10 each, ¥ 8 called up issued at a premium of ¥ 2
per share to ‘R’ for non-payment of allotment money of ¥ 5 per share (including
premium). Out of these, 80 shares were re-issued to Sanjay as ¥ 8 called up for
% 10 per share.

(¢) Z Ld. forfeited 300 shares of ¥ 10 each issued at a discount of Z 1 per share for
non-payment of first and final call of ¥ 3 per share. Out of these 200 shares were
reissued at ¥ 3 per share fully paid up.
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18. wwﬁquwrﬁﬁﬁmﬁm%n&ﬁm-mﬁmﬁnmzzl%agqmﬁmﬁiiaﬂﬁ

# fafere w9 ¥ AT E, o TR T T ST ST SR S e 8 St & 1 7R A,
St 2 % @ e & I geEe w @ i o | e 3w 1/3 T % fere TR
ERR ST S | T A R F e A s e e e | TR & waw 9

TewT T T st P et o
P— afe et wfer
® ®
Gt @ T 1,20,000
e 1,20,000 | v 80,000
fffir 80,000 |2,00,000 | TefE 50,000
T I 30,000 | fafey S_R 30,000
R 30,000 | TFE 20,000
et W e 40,000
3,00,000 3,00,000
3 forofa ford 2

(37 e =t ge ¥ 5,000 9@ S |

@) AR T 10% SR S S T AR H 5% T S |
@) iﬂﬁlﬁﬁts,mowm%mmﬂ?ﬁ?%ﬂmﬁmmwmm%l

(@) w5 g < 45,000 R
Whﬁm,mﬁmﬁﬂﬁp&uﬁamgmﬁamﬁmﬁmﬁwmm | W
wuifer iRl T TE o 9EE H |

i faeira fetfer Frmrgam ot |
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o laﬁmﬁﬁaﬁm.ma%aﬂmﬁ%w&aﬁmmhﬂwﬁﬂﬁmﬁ |
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® ®
/R 10,000 | wHTeR 37,000
fafrai sar wgm faf 4,500 | wefear 5,500
forat - fafam 15,000
it 40,000 | TwE 9,000
fifer 30,000 | gferem =t guit 18,000
84,500 84,500

fFrefefeas w weafa 8

wret = fafit @& T 12,500 & ferar | Teferan & SR W T 41,500 9 T | B F ww
T FHR B, i qofer: sroferfae & gm , il 3 2 3,000 § & B | seaE 5t
¥ 8,000 =t afergfr t ¢ | T gAn H S T freror F = v e | St =g
¥ 1,000 T | B I T I F S o0 et @, WERR & O @ e ey @
TR ST |

v H waife T ger 9 weEe o Fif |

Sahaj and Nimish are partners in a firm. They share profits and losses in the ratio of 2 - 1.
Since both of them are specially abled, sometimes they find it difficult to run the
business on their own. Gauri, a common friend decides to help them. Therefore, they
admitted her into partnership for a 1/3" share. She brought her share of goodwill in
cash and proportionate capital. At the time of Gauri’s admission, the Balance Sheet of
Sahaj and Nimish was as under :

67/1/1

Amoun Amount
Liabilities = g Assets s

Capital Accounts : Machinery 1,20,000
Sahaj 1,20,000 Furniture 80,000
Nimish 80,000 | 2,00,000 | Stock 50,000
General Reserve 30,000 | Sundry Debtors 30,000
Creditors 30,000 | Cash 20,000

Employees’ Provident Fund | 40,000
3,00,000 3,00,000
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It was decided to :

(a) Reduce the value of stock by ¥ 5,000.

(b) Depreciate furniture by 10% and appreciate machinery by 5%.

(c) ¥ 3,000 of the debtors proved bad. A provision of 5% was to be created on
Sundry Debtors for doubtful debts.

(d) Goodwill of the firm was valued at ¥ 45,000.

Prepare Revaluation Account, Partners’ Capital Accounts and Balance Sheet of the
reconstituted firm. Identify the value being conveyed in the question.

OR

Prachi, Ritika and Ishita were partners in a firm sharing profits and losses in the ratio
of 5: 3 : 2. Inspite of repeated reminders by the authorities, they kept dumping
hazardous material into a nearby river. The court ordered for the dissolution of their
partnership firm on 31% March 2012. Prachi was deputed to realise the assets and pay
the liabilities. She was paid ¥ 1,000 as commission for her services. The financial
position of the firm was as follows :

Liabilities —— Assets —
® ®

Creditors 10,000 | Furniture 37,000

Investment Fluctuation Fund| 4,500 | Stock 5,500

Capitals : Investments 15,000

Prachi 40,000 | Cash 9,000
Ritika 30,000 | Ishita’s Capital 18,000 |

84,500 84,500

Following was agreed upon :

Prachi took over investments for ¥ 12,500. Stock and furniture realized T 41,500.
There was old furniture which has been written off completely from the books. Ritika
agreed to take away the same at the price of T 3,000. Compensation paid to the
employees amounted to ¥ 8,000. This liability was not provided in the above Balance

" Sheet. Realization expenses amounted to ¥ 1,000. Prepare Realisation Account,
Partners’ Capital Accounts and Cash A/c to close the books of the firm.

Also identify the value being conveyed in the question.

67/1/1 11 [P.T.O.
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wr-a
PART-B

(it oot ot Rirgeteom)
(Financial Statements Analysis)

T foreita et grr e i @ 39 G vawE e SR S 9w Y TR ¥
Tsrampem § A Ha1 2

Under which type of activity will you classify ‘Dividend received by a finance
company’ while preparing Cash Flow Statement ?

‘WA BT ¥ W UHE ®1 F9T aed § 0

What is meant by ‘Cash from operating activities’ ?

fareita faauit & faveiwor % felt v Stvg @ Seor it |

State any one objective of Financial Statements Analysis.

FeA SHfafam 1956 Ft ofwifaa Grolt Vi & s 1 seER fefy e § Rrafiee o
T ¥t o v & s femes smi 2

(i) T % 9ieT W i,

(i) F AW,

(iii) <1 o 91 |

Under what heads and sub-heads the following items will appear in the Balance Sheet
of a company as per revised Schedule V1, Part - I of Companies Act 1956.

(i) Premium on redemption of Debentures

(ii) Loose tools

(iii) Balances with banks

(30 FreAferfiae e @ wrivier Gt e s Fi o Hi

T fasha T 1,30,000; 36w fasa 2 3,80,000; fasa Aot T 10,000: TR Tt
¥ 1,40,000; =Te] 31 T 1,05,000 &1 whET T 90,000.

@ FreAfafes gE § o gwar SFuR #® e Fi -

fafer wafeat % 3,50,000; e 507 T 2,50,000; =16 AT 2 80,000, 2+2=4

(@) Compute “Working Capital Turnover Ratio’ from the following information :

Cash Sales ¥ 1,30,000; Credit Sales ¥ 3,80,000; Sales Returns Z 10,000: Liquid
Assets T 1,40,000; Current Liabilities T 1,05,000 and Inventory ¥ 90,000.

(b) Calculate “Debt Equity Ratio’ from the following information :
Total Assets ¥ 3,50,000; Total Debt ¥ 2,50,000 and Current Liabilities Z 80,000.
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24,

T ffivre % 31 W 2011 79T 2012 H TAE g€ a6 ¥ fore et oy @ @i

foeRoT & ‘g M-aT foEter §4R ST ; 4
P A | 2011-12 | 2010-11
= L4 T
e | & 20,00,000 | 12,00,000
Eo i of 12,00,000 | 9,00,000
= 13,00,000 | 10,00,000
From the following Statement of Profit and Loss of Suntrack Ltd., for the years ended
31% March 2011 and 2012, prepare a ‘Comparative Statement of Profit & Loss’.
St Ime 201; 12 2012-11
Revenue from operations 20,00,000 | 12,00,000
Other Income 12,00,000 | 9,00,000
Expenses 13,00,000 | 10,00,000
25, faran faes =1 31 e 2012 = Frferfia fefafamo &
AT 1
e b
. HeT U S
(1) v i
(3n) 3 7,00,000 |  6,00,000
@) T i (em-E 9) 2,00,000 | 1,10,000
(2) FEw qa
FHIA F0T 3,00,000 | 2,00,000
(3) e e
I 3Fa 30,000 25,000
arm 12,30,000 | 9,35,000
11, Jetedt :
(1) et aig=taar
(37) T Rt
T REmtwEl 11,00,000 | 8,00,000
(2) ] fcgeafeat
(30) Tl 70,000 |© 60,000
(@) =S it 32,000 40,000
(@) UHe T IHE TH 28,000 35,000
arT 12,30,000 | 9,35,000
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T % IRE T AW F wE [ e T 80,000 €1, T 65,000 F a9 fear mar | g
Fefeal o as wE= T 2,00,000 B FET W |

A VaTE faaor d9R HiWT |
Following is the Balance Sheet of Wisben Ltd. as on 31* March 2012 :
Particlars ot | e
I. Equity & Liabilities :
(1) Shareholders Funds
(a) Share capital 7,00,000 | 6,00,000
(b) Reserves and Surplus (Profit & 2,00,000 | 1,10,000
Loss Balance)
(2) Non-Current Liabilities
Long term borrowings i 3,00,000 | 2,00,000
(3) Current Liabilities
Trade Payables 30,000 25,000
Total 12,30,000 | 9,35,000
II. Assets:
(1) Non-Current Assets
(a) Fixed assets
Tangible Assets 11,00,000 | 8,00,000
(2) Current Assets
(a) Inventories 70,000 60,000
(b) Trade Receivables 32,000 40,000
(c¢) Cash and Cash equivalents 28,000 35,000
Total 12,30,000 | 9,35,000
Adjustments ;

During the year a piece of machinery of the book value of ¥ 80,000 was sold for
¥ 65.000. Depreciation provided on tangible assets during the year amounted to
¥ 2,00,000.
Prepare a Cash Flow Statement.
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PART -C

(Computerised Accounting)
(Ffirmfer sarw)

“ifiEleTs SraTE FOTe” ¥ {1 U o9 W Seord ST |

State any one advantage of ‘Computerized Accounting System’.

ST, ¥ R 0 Wi 1 A A A e B e § e H e |
Name any one DBMS software which processes the data in flexible manner.

WY S 5 31 A & 2

What is meant by Relational Database ?

Tl o1 2R T SRR AT 2618 WHRaaT U § ST ST |
Differentiate between generic and tailored software packages on any three bases.

“wfgameeor i fafy Twemed |
Explain the method of ‘Codification’.

AT FE 2 TWF & A A |
What is DBMS ? Explain its two advantages.

Peetfetfiaer T (37) WETTE SR (&) Y A6 A9 (F) T FH AR P 0A F e o

W GH H AT FIAC ;
€:)) mqﬁtmqaaaﬂm.oooawzu%aﬁmﬂmmmhumzs%a&«ﬁ:
@) v a0 % T - g7 3o | HETE e Sea |
@ JTWHHEC0%HTTTITE |

Calculate the formula on Excel for computing the amount of (a) Dearness Allowance

(b) Net Salary (c)Tax Payable from the following information :
(a) For Dearness Allowance, Basic Salary upto ¥ 40,000 at 20% and at 25% above it.
(b) For Net Salary, adding Dearness Allowance to Basic Pay.
(¢) For Tax payable at a uniform rate of 30%.
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